Modification of Terms and Transfer of Assets 
Impairment Worksheet

The following tables are offered as a guide for examiners to calculate impairment in the most common forms of TDR: (A)  Modification of Terms and (B) Transfer of Assets. 

Exhibit A (taken from TDR BEST module, pg. 12)

Worksheet for Calculating the PV of Future Cash Flows in a Modification of Terms TDR

Calculate the recorded amount of the loan:


Principal balance at time of restructuring:

$



Recorded accrued interest at time of restructuring:
$



Deduct any unamortized premium included


 in the principal:




$



Add any unaccreted discount included


 in the principal:




$



Deduct any charge-off not netted from above:
$



Recorded amount of the loan:


A$


Calculate the present value ("PV") of the expected future

cash payments:


PV of Principal of new note:


$



PV of Interest (Principal X Rate X Years):

$



Present value of the expected

            future cash payments:                                                   B$(
 
)
           A minus B                                                                      C$

 
If C is a positive figure, then the amount represents the impairment.

If the ALLL is determined to be insufficient to absorb the amount of impairment, the entry would be:


Dr. Provision expense








Cr. ALLL








If C is a negative number or zero, then there is no impairment.

Exhibit B (taken from TDR Best module, pg. 15)

Worksheet for Calculating a Transfer of Assets TDR

Calculate the recorded amount of the loan:

Principal balance at time of restructuring:

$


Recorded accrued interest at time of restructuring:
$


Deduct any unamortized premium included

in the principal:




$


Add any unaccreted discount included

in the principal:




$


Deduct any charge-off not netted from above:
$


Recorded amount of the loan:


A$


Deduct the market value of assets transferred:
B$(

)*

Net recorded amount of the loan:


C$


Calculate the present value ("PV") of the expected future cash payments:

PV of principal of new note:


$


PV of interest (Principal X Rate X Years):

$


Present value of the expected future cash payments:
D$(

)
C minus D
                                                          E$


If E is a positive figure then the amount represents the impairment.

If the ALLL is determined to be insufficient to absorb the amount of impairment, the entries would be:

Dr.
Provision expense

Cr.
ALLL

*The asset account will depend upon the type of asset transferred.  For example:  The market value of transferred real estate will be booked as ORE but the market value of transferred boats or vehicles would be booked as Other Assets.

If E is a negative number or zero, then there is no impairment.
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